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Part | - Mental Ability Test,

Part Il - Scholastic Aptitude Test.
This question paper is for part - |
Mental Ability Test. Time allotted to
answer the questions In this part (1
ta 90} is 90 minutes. Marks to this
part is 80,

Te answer part | and Il only one
OMR Answer Sheet is provided.
Answers to this part to be shaded
In the appropriate box In “Part —|
Mental Ability Test" partion, using
Blue / Black hall point pen.

Write your Roll Number as given in
your admission card. (Centre Code
No. and SLNo.) very clearly in the
nuestion hooklet and in the Answer
Sheat (Only one digit in one box)

For example, a student appearing
from Centre Code No. 0102 with
SLNo. 0G6 will have to writo the
Rofl No. as follows.

Roll Na.
Centra Code No. Sl.No
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Other Instructions
Read Carefully

. Write only candidates Name and

Roll.No. in the space pravided In
the Answer Sheet and affix your
sighature.

All gquestions ars compuisory.
Since the tima aliotted to answer
Is very limited, you should make
the best use of it, by not
spending too much time on any
one question.

Choose the corroct answer from
the options given for each
question and shade the
corresponding box with biue /
black ball poini pen, in ths
answer sheef.

in the Answer Shest if you shade
more than crie answar number
or if you overwrits or delets the
answer number, no mark shail
be awarded to that answer.

Two blank shests have been
provided at the end of the
guestion booklet. Usa it for
rough work. Answers on these
pages will not he conslideorad for
Valuatian.

In future for correspondence, if
any, quate your Rofl No.
{Centrs Code No. and Serial No.}

withaut all.
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(1) Blue (2) Green
(3) Orange (4) Pink
(1) Asia (2) Europe
(3) Australia {4} India
(1) See (2) Fear
(3) Smell (4) Think
(1) Uncle (2) Nephew
(3) brother {4y Nicew
(1} JOT (2) U
(3) FED (4 DG
(11K (2317 Q
3)3C (4)8H
(1)8TUA (2) RQPA
13) MLKA (4) HGFA

iy @lenr reir 8-14)
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Chimney : smoke : ; GUN: »

(1) fire (2) bullet

(3) death {4) army
DDA : ADD ;: RRR: ¥

(1) RRR (2) BRB

{3) BRR (4) RBR
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Direction (Questions 1-7)
Chovse the word which is loast

like the other wards

(1) Blue (2) Green
{3} Orange (4) Pink
(1) Asia {2) Eurape
(3) Australia (4) India
(1) See {2) Hear
(3) Smell (4) Think
(T} Uncle (2) Nephew
(3) brother {4) Niece
(1»JOT 2y OUT
(3) F'ED 4) DOCG
(MK )17 Q
(313C 4)8H

(1) STCA (2) RQPA
(3) MLKA (4) HGFA

Direction (Questions § — 14)

There is a yuestion mark in hoth
questions in which only une of the four
alternatives given under sadsfied the
relationship as in found between two
wrms oa the other side of the sign : :

Chimpey : smoke : : GUN: ?

(1) fire (2) bullct
(3) death (4) army
DDA:ADD ::RRB:?

{1} RRR (2) BRB
(3} BRR (4) RBB

10.

15.

16.

48

India : President : : State: ?
(1) Prime Viinister {2) Covernor
{3) Thief Minisier {d) iayor

Eyes: Tears : : Yoleana : ?

{1} Lavs {2) Heat
{3} Water (4) roeic
12:169:: 1437

(1) 19% (2) 144
(3) 223 {4y 121
27:9::64: 7

(1) is (2) 32
(2 & 41 4
CD:3gs: JH?

(h L1 {(Z) 910
Hioiz {4) 119

aufapsum (s e, 15-18)
AerPesiul L mpDenspms
SEhgUR eflon weflbaan.

‘REMOTE’ sreinug e ‘ROTEME’ srsmrés
SO 1 ned PICNIC seivugsna @il gih
eilgin

(1) PNIICC
(3} PCIINC

{2) PCINIC
(4) PICNIC

479" adrug ‘frult is swaet’ edrgud
248" srsirug) ‘very sweet voica’ ssirguh
‘637" eremug ‘eat fruit daily’ srsingen
@S meb ‘is’ srdTUB G @D

(1)2 (2)4
(337 (4)9
'MAN’ SYEITLIGE S0STT ‘OCP’
smsgRah Lrd ‘BOY' msiusmer
@iMigud alipih
(1) DQZ ) DA
(3) CPZ (4) AQD
333/ {155
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India’: President (@ Safe: 7
{1} Prime Minister {21 Governar
£3) Chief Minisicr {4y Fiwyor

Fyes : Tears: : Volcang ¢ ¥
(i Lavy {23 Eest

(3 Water 4y rock
12:069: k4%

(1) 1%6 12) 144
(3) 225 431
27:95:6%2:°7

il)ia (2) 32
e 44
CD:38::; 3K 7

Yy i {2) 91
3110113 i4) 116

Direction {Questions 15 ~ 18)
For the given sitnatinns, choose
the correct option.

REMOTE is coded as ROTEME,
PICNIC is coded as

(1) PNOCC
(3) PCIINT

(2) PCINIC
(4) PICNIC:

‘4797 means ‘fruit Is sweet” ; 248’
nieaos ‘very sweet voiee” and ‘637
nicaos ‘eat fruit daily’. The digit for
5?8
(12
37

(2)4
@9

‘MAN? is written as *“OCP? then
‘BOY’ is written as

(1) DQZ
(3) CPZ

{(Z)DQA
4) AQD
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134 aeug “They are weil” ETSIpAT
‘738" starugy ‘they go home' STESTIRD
‘369" edrugy ‘We are home’ erdnpud
GO L) ‘go’ smerugsixgfin GOl
(1) 7 {2)3

(3)8 (@1
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21.  11,12,20,47, 2 <o oneiene \
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3) 111 {4) 121
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‘134" means “They sre weil” <738’
means ‘they go hame’; ‘862 means
“We are home™. The word ‘go’
represents the digit
(n7

3)8

(2)3
(41

Divection (Question 19, 20)

Read the content, #euse the
direction und snswer the guestions 19
and 20,

A man s facing East. Tle turns 45° in
tbe clockwise direction snd  then
snother 180°% in the same direction and
then 270" in the anticlockwize
direction, Which direction is he facing
now?

(1) Seuth

{3) South East

(2) North East
{4) North West

A man is performing voga with his
head down and legs up. His face is
towards West. Ini which direction will
hig left hand be?

(1) South
{3) Enst

{2) North
{4) North East

Diivection (Questions 21-23)

In cach question the numbers
are arranged in a scquence based on
cerfain principle. Select the unswer
from the four alternatives given under
each sequence for the term marked by
the Symbaol (*27),

0 by b Y R B S
(1) 91 {2) 101
(3) 111 @121
5,7,10,15,22, 7 ........
(1) 31 (2) 33
(3) 35 (4) 37

23.

24.

25.

26.

27.

PRLR BT oL ) D e 23.
{1) 34 (2) 29
{3)30 {4) 32
eaflipen (eflemr erentr, 24-25)
QamRami Rersm Gam_imeafis
HRUPNE G5 STET LTk ST TGS S smeT
CuiosHée.
24,27, 31, 33, 36, 39 24,
1)24 {2) 31
(3)36 (4) 39
8, 15, 24, 37, 48, 63 25,
{1) 1% (2) 24
333 (4) 63
) Agemp (26-30)
Jpdmn s susniTLE hieser
ANEEOTTR [ uodgisesma @Rl
afl il Simudein’ Derarg.
Glar@saiu L eSlsTrrdseish L
Sl . @gos Mespe Cming
sresmaflsmen / s1ySdisnen Gt Os@iés.
: 26.
: 9 anYan
B2
AT AT NI LT,
(1) 56 2)22
{3)23 41
E] e r 21
I_&n!ll‘ﬂﬂlllﬁﬂ
3 n f
17 (234
(3)3 “)8
z38/n5-8
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2.3; S, 13,357\ 0\
(1) 34 (2) 29
(3) 30 (4) 32

Dircetion (Questions 24 - 25)
Find the wrong termz in the
serics,

24, 27,31, 33. 36, 39
(124 (2)31
{3) 36 {4} 39
8,15, 24, 37, 48, 63

(115 (2) 24
(3) 37 (4) 63
Direction (26-30)

The diagrams and the numbhers/
letters tollow cevtain principle. Wine
the wissiny nomber / leiter indicated
by question mark ("7}

34
2y
{1) 56
(3)23
T 3
s Tol e [ ]l ][] 7]
e 2 Y
(1)7 (2)4
(E) K 8



2)J
(4) ¢

(2) 16
{4) 17
1l g
7 1 41§ ? 5
2
(1) 78 {2) 88
(31 98 {4) 108

sufigpemm {eflen oreger. 31-35)
Spsanemn dleomssmsE el

Qunnsgonsar shlsmL_uShsmar
Qﬁﬂ'@éﬁ!:l.l._mm 4 u.rﬁm
sisn sefidlelibz) CaibCls @& snyb.
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SeonEs s AmeuiesfinT steranf&ss
(1) 6 2)3

(3)7 {44

S0 shogulsr ghHturmgn ey g
wsefidr aufld 2 1% wdsrs e srag. §
AUBLAGEHEG (Weirant ghsnmdstr auug)
s enflir suighish 3 UL RFHTS
DEHOOBH™ s anug
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i3) 6 (4) 50

EaEs o"sj
(VH ) J
() F 4) G

(1} 20 (2) 16
(3)19 {4)17
fl q
7 n ; A 5
7 2
(1)78 {(2)88
(3) 98 {4) 108

Direction (Questions 31-3%)

Identify the most appropriate
alternative among the given four
alteraatives,

“Twao boys in front of a hoy, two boys
behiad a2 boy and a boy hetween two
boys™. The smallest numher of boys
for the above formation is

16 2)3
@7 (4) 4

A father is, at present, 2 and half times
as old as his son’. Five yvears back he
was three times as old as his son. The
age of the father is.

(1) 45 (2) 4t
(3) 60 (1) 50

35

4

a7

usrBEgsn, SamflaErd esmr 2.0
gat ) G eubnileir Quongs smsoselsir
ammedl&ens, 4 WG Smeusafls
adremildmasmy &L 40 (GopSUTS
a.drerg) srafll Camfaefidn ammmiicms
(1)15 (2) 30

(3) 20 {4) 35

s Cgraflh eeGorm  afumer
oimL&gh 3 wHIQuatTaEsh, ST
dmLamse  subureamaéen 1
wHCuEr  @mplushen  aiflums
Qmingin QereTasl. [urae enarssl 80
dloméemimyd e weflds 120
TEANAND S Guiyomed SRS
aMenwaliga eflsoirdaeaflar memanfl&Gans.

(1) 50 (2) 30
(3)40 (4) 60

{(194)"" etrugew eflifsurésSEie 1—b
15880 oenifgieTar Bk

(1} 6 )4

(3)2 48

auflpren (efler sretor. 38-37)
QerRasiu’ Gerar  sfanmssafls
S Lol ereRaT BTV

A ombmia smer L@ G Haned
griulGedrer 4 GQgrnesfid g
T SIOLIYE, 2UFHEDTE
Cabis{HiEa.

2x_th omrpluL. Causmpuisns
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(1J6—8+4=-1 (2)E-6+d=1
(3L +8-2=6 @4-B+6=2
AL unbplel Zasinguenal
GEaKGer | + DHped -

srabast @ 4w B
{1Hd-8-12=16
{2)4-8+12=9

rw.Trb'l'n;!g?g)m. 4-§2=24

(38 ~4+12=%
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la a group of cows and hens, the
asumber of legs are 40 less than four
times the number of heads. The
number of hens is

(1) 15 (2)30
(2) 20 {(4) 33

in a2n cxaminutivn, a student scores 3
marks far every correct answer aad
loses 1 mark for any wreng answer. JT
he attempts all 80 questions and
secures 120 marks, the number of
questions she attempted wrongly, is

{1) 50 (2) 36
(31 40 {4) 60

The unit digit of (194)** is

(16 (2)4
(32 OF

Pirection (Questions 36-37}

In each of the followiog
questions if the Interchanges are made
in signs and numbers which one of the
four relativns wonld be correct?

Given interchunpes :

sians : —and +

airhers: 4 end &
6=-3+d=-1 ()F=6+d=i
(3jd +8-2=6 f(4id—-R16=12

Given interchapges :
Signs  :+and -
numbers : 4 and §
{1)4=8--12=16
()4-8+12=0
(3318 +4-12=24
(18 ~4+12=¥
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aufasn (e sresr, 38-40)

gmGlan(f; aflsmalig)n 3
st appeer 567 afihfier
eom G pwubgeTTg. s
cadoa saNE, HHW Spglummufid
Ssamanen oo fiflsr wflNensrd smelns.

1x2=32: 4x3=712; 4x7=1128
s 7Yi=

1) 1021 (2)2110
3) 1016 {4)2121
1-3=89: 3+4=2716;
d-3=pdYemfld [ +2 =
(1) 81 2) 14
3)12 4) 18
Sx9=144; Tx8=151,

ix6=10aefl) 2x8=

(1) 106 (2) 168
(3)1610 {4) 1616
auflupeon (@flerr ereir.41-50)

Glesn{pdeILr L 4  wmm
A Fafid  WBalCUTEEHSLITGT®ES

Coih @ 5{E1 A s b,

7,10,2,0,3,7,5. 8,9, 11, 12, 6 ereap
Cam femsr  wofmnia BLOudswrs
ol opowdgl, BLlussers T-ag)

ereineafifi@ aaliubaINTS 40 Tawr.

(1) 10 2)2
3)7 4%

01082007 sra@mugl (MpR  Lgsrélpamio
i el 2007- d-aum
ead &S e

(1) 17.08.2007
(3) 18.08.2007

(2) 25.08.2007
(4} 24.08.2007

15~M=- g-2A4
npsc.com
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Direction (Questions (38-40)

la each of the following
yuestions, three siatement of numbers
following same rules are piven. Find
the rule and accordingly find the value
of the required statement.

H1x2=32; 4x3=712; 4x7=1128
then 753 =

(1) 3021 (2) 2110
{3) 1010 (4) 2121
1If2+3=R89; 3+-4=2716:
4+3=649thenl +2=

(1) 81 (2) 14
312 (4) 18

IH5x9=144; 7x8=151
dx6=102¢hen2x 8=

{1106 (2) 168
{3) 1610 {4) 1616

Direction (Questions 41-50}
Choose the most appropriate
option among the given four options.

If the fallowing series Is written in the
reverse avder, which number will he
the fourth to right of the scventh
number from the left?
7.10.2,0,3,7,5,8,9,11. 12,6

{1 in 2)2

N7 (4)5

01.08.2007 is the first Wednesday. The
fourth Saturday of August 2007 is

(1) 17.08,2007
(3) 18.08,2007

(2) 25.08.2007
{4) 24.08.2007

43.

45.

47

48.

1 1poa 100 susnoflemaT sranaafis 4 stem
Basapimar SSPHHUCAD i
Brossuras Qsrand, 4-g480 OAFULE
Satpus sTETE ST e Rl

ns (2)92

36 @7

42 aewmmficme  QeramL  auElifid
aflgn, Gpiraflsa Gmaﬁ'w 25+
B pfimer @i ARG
seflgeflar G0
(1) 16
(317

o5 CugigDmausSiinis guGuTG
0 A GenComfulsd  wgenrss
Gumtz  Csndng @ sl
Grré&smiummiid  oflerfsen  Gurg
égm:i 10 @Mﬂﬂ-@ @mmr'rgnﬁ:.r
ez Sushal unOu  Befl g s
g@pﬁ Cumig 9.45 AM-&® 2 sarg
STAT(ILD o giimt seafled
aflamfd@LGungl e sver GEMD

(1) 9,15 AM
(3)9.05 AM

2319
(4) 18

(2)9.25 AM
(4) 10,15 AM

dgaanmm 4 QBT 346803 SEaT
mupsmesn  Hplum ufld  siflmeusres

a0 dbi TEUTS sem Sufih
BonGmms

{2) muldiple
{4) murder

{1) music
{3) mint

‘APPROPRIAT E’sréimp sumigssms fids
Spday @b Cup s

(DR A

(3P @ E

Qybdlm  erigdgissefien exfisosuiid
s iLGaHR0lEhe 16-18 @ S airer
n@&g&@ Bribera 8- @i o
»_dieT STYSE

(1 C (2)B

rww. TrbTijidtom HE

z88/15-12
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How muny pombers from 1 to 100 are
there such that these are out only
exactly divisible by 4 but also has 4 as
u digit?

{1)8 )9

(3)6 47

Kavitba i« at 25" position [rom the top
in a4 clags af 42 students. Her rank
from the hattom is

(1) 16
{3) 17

2)19
(4) 18

A bus for Madurai leaves every 30
mioutes from a bus stand. An enquiry
clerk told a passenger that the bus had
already left 10 miouics ago and the
pext bust will leave at 945 AM. The
time of enguiry of the passenger with
the clerk is

(1)} 9.15 AM
(3)9.05 AM

(2)9.25 AM
(4) 10.15 AM

Acrange the given words in
alphabetical order. One that comcs
fast is

(1)} musie (2) mulfiple

(3) mint {4) murder

%¥hich letter occurs most often in (he
word ‘APPROPRIATE®?

(HR (2) A

3P (4 E

Which English alplabet Jetrer is eighth
ty the iefi of wiatecnthi lotter from the
right erd?

inc
HD

)8
L
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*MEASUREMENT’ sreimn sumigangudlsi
& §iraTT opdgsaatia o
8 Gl L @srtlammey aumigmg

(1) MASTER (2} MANTLE

{3) SUMMIT (4) ASSURE

‘SELFRIGHTEOQUSNESS® srstrugsner
eusuLBnE) [ VLT Bl
TG Gurg, Hsme @) ghflomerr
&8 000U S SIS0\ TG TS

(HE )G

(M H HT

s fapenn (@Rl araer. 51-55)

Séanmpmd SUSDTLL 6T
gflgganiure 3 o mi'neeflsr
Qem_tysmerd Qaram g L@
afsrredlgh QamrgsUu @erer
Aprenjasr gOpED GG LU-Smer
DRTeRHGHADHE SRS St &,

@

Bus, Car, Vehicle

Cats, dogs, pets

Lawyers, Doctors, Teachers
Asia, Indin, Tamilnady

Human beings, Educated, Employed

3ge/ns-13
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Choose the word which can be formed,

from the letters of the word
FMEASUREMENT!

{1) MASTER (2) MANTLE

{3) SUMMIT {4y ASSLRE

The letter in the word
‘SELFRIGHTEQUSNESS® docs not

change its position when the letters are
reversed, is
(D FE
(3} H

(2)G
4T

Direction (Questions §1 - §5)
The foltowing diagrams shows
some relationship among 3 items. For

cach group of clements there
corresponds on diagram (1) or (2) (3}
{4), Select the diagram

@@

Buag, Car, Vehicie

Cats, dogs, pets

Lawyers, Doetors, Teachers
Asia, India, Tamilnadu

Human heings, Educsted, Empluyed

57

5.

6U.

3

ww. IrhT

ufllpanm (56-60)
&pemgpid susmm L SE0m ke
o1 eflen_omusd ETeRv,

1

P h e

Glesmisn—-assniufay Gibpeutaer
& Cammmd — Fardeny ambseutsd
QLD = 2 UFTTRN SET

sremug sner S sraflsy

ULt *4" erelm SR (g

{) esdsilufiog Qubp 2 wnorsreaiesdr

() sseiiugiay Qubp Farssaita

(3) adallufiey Quprgauiass.

(@) shefluiey Qubp EaTHmsS
SFTSaUTSET

&Mlum GLﬁ)m 2T
parfsatamms s eiie

(15 24

3)2 3

adefufle) Guprg Fardms  emils
GLaLwremstsmT @b @i
{16 {2)3

(3)5 $7

sodlufe  Guip
BisEH @iuiGes
MIRET
(31 &2

TGS SaETS

22&3
4)1&4

2 usnohD, ahafiufag
parggaiamn @RINGH gidb
(136 (2)5

37 (494

331;15-!#

sC.com

Quung

 www.Padasalai.Net
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Direction ( 56-60)

For the given dizprammatic
representations answer the questions
far 56 (o 60,

‘Kectangle® indicares “Fducated persons’
“Triangle’ indicates ‘urban people®
*Circle’ indigates ‘Tall persons®

56, The code 4 indicates
{1} Educated tall persons
(2) Urban Educated persans
{3) Non-Educated persons
(4) non-urban Edncated persons

57. The urban Educated tall persons
" indicated the code
(Hs
32

(2)4
4)3

58, The un-Fducated, short urban persons
indicated the code

(1)6 2)3
(3)5 (d) 7
59. Educated urban persons indicated the
codes
1)3&4 (2)2&3
(N1&2 4)1&4

60. The urban which are neither tall nor
Educated represented by che code,
(tYa {2)5
37 (44



al.

62.

63.

64.

65.

auflupemp (fler erstr. 61-65)
QarhssuulBsrer  phianainfs
semasasr 61 ot 85 ey

ol wefidsa b

() A, B, C,D, E.ubmmd F géu
EeETLITEGT RILL 6RpsSls) SLOGTUSSD
ST,

(i) A seirunat B-&5 auniussnrs
@rin_mh G 5o gt
205 Crrgdo B garart C-5&

Gt o1 Sporgeiremmi

(1) C et D-&@ Cri @ (udsLons

ST %G? Ggrmmlb D
gymrsuit E-tg Gt e

S|eThgI :
{iv) F ersdrunypl sl L &b yuoikg)sirar
Hemeousic
Sysargp ANaTEBEHEES
uFlmns Gaitig@&sayb

2 flw

B-uheh A-& @auld ouihgsvered

Mmc @)D
()M (4 E

A6 Gy rghlnrs: Sjongseret

() F (2)E

(3)B 4

A& Cpt Brlusan syofhgererai
ns () ¥

() F @

DSphs sLamBmaulld oD
Spohhser efiess

(1) DCAEBF (2) DFBEAC

(3) DBFECA (4) DFEACE

Eulfmig  egem  s@ideosdd

Simenayms sroEgstar auflangs

(1} RCADFB (2) ERFDCA

(3 EACDFRB (4) EDFCAB
Ag8[n5-15

www.IrbTnpsc.com
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&1,

63,

o4,
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Direction (Questions 61-65)

For the given situations, answer
the questiuns 61-65.
(i) Six friends A, B, C, D, L, F are

aufpeng (el steier. B6-71)
Sdongm Sarssmse HE0

Gl (g S stom e sl ullsme
Qampamay {Herer 4 LoD
fion_smfeige G Qe sais

sitting around a circular table at 2 66. A vigis B gg@Gurt sSanpriee. C
equal distance from each other. ik D oy GumT sGsnsMa. A-de
(1i} A is sitting two places right of B, oade D-uilse Gangreir meafids Crse; Besin
who is exactly opposite to C. 2 ey @
(iii) C is on immed.ime left of D, who is ) Biss @) sGarznen
exactly opposite (o E, (3) mibeEr @ Hssour
(iv) F is also sitting at the table.
87, M aarusut N-sin eGangri; B srsroaui
N- s@angi ; M stsiruast D-sir sGangnt
sreifiso Spamarusnsnaiin @ pdurersys
Sisough 2.0 (e
{0 N srsrunst B-fsir sCamat
(& N srérunst D-wlar sBamyai
(2) M ardnanyi B-ufldn sCamrgm
@ D sa@unst M-ufer sGanad
68. A, B, C. D, E. F gp@Cumi s’ L angeflsh
The person sitting between B and A is B Qesmeme @ &Em aEer.
me D D s C-sir @eoL Gw B 2_sremm.
()M (4)}E E wiygid C-ir Sene G A a_sremm,
D-&@ susniugaid F o sremmr stsnfisn
The persun sitting opposite to A 18 A wigid F-ée @l B 2 sreret
g;‘; g}? (B )¢ (0 @E
69. @mme el 4006 B Gpen
The person Is sitting left o A Is weefih@n @em_Gus z_simsm Casrasmid
(B ()E (1) 120° (2) 60"
3F #HC (33 990" (4) 160°
The clockwise order of sittng the 0. B-gn @opisulsd 1 Eessunss
persors from D is Gomr® 8, 5, 2, 1, 7, 6 g
(1) DCAERF (2) DEREAC Bedadismmd o parssiubh, &b
(3) DBILCA (4) DEEACB Bais aainasfidr mamsibme
9 (@10 11 ()13
The counter-clock wise order of sitiin e S ; :
the persons from E Is h 71.  Qepng Ehggler t-mer @mﬁﬁu’ﬂ'ﬁ?
(1) ECADFB (2) EBFDRCA Qensm. 3 @wds  sdisnflsn
(3) EACDFB (4) EDFCAD SR RIS E
(1) 100 (2} 90
ww.TrbTﬁ}}sJ.ggn: (4) 929
%88/ 15 -1E

16

66.

67.

69.

71.

www.Padasalai.Net

Direction (Cuestions 66 -71)

ldentify the most appropriate
alternative among the given four
aHernatives.

A and B arc brothers. C and D sre
sisters, A’s som is D’s brotheyr. How is
B related to C ?

(1) Father (2) Brother
(3) Grand Father (4) Uncle

M is brother of N ; B is brother of N ;
M 1is brother of D. Which of the
following is definitely true?

{1) N is brather of B
(2) N is brother of b
(3} M is the brother of B
{4) D is the brother of &

Six persens A, B, ¢, D, £, I' arc
standing in a circular forin,

B is between I and C,

A is between E and C,

F is to be right of 1D,

The person hetween A and I is

(1)B @C @D @E

When the iime is 4.00 AM the angle
berween the hands of the ok is

(1 120° (2) 61"

(3) 90" (4) 160"

The number of combinations of twao
digit numbers having 8 as atleast one
of the digits, from the digity

8,52 1,7,61s
(1o {2y 10 {311 )13
The number of } digit numbers in
which the digit in the umit place is

always 1 s
(1) 100 {2) 90
(33 1020 {4) 999
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auflieny : (eflarr star, 72-76)

A igib B a8l 5558 B Gus &0 i 2 6ien,
- . - . g .
ohps DEEa @@é@&wmi:mm el (1), (2), @ﬁ&’é@%

Direction : (Questions 72 — 78) :

SCs v dlnimear Qam_iy ¢
“Seven GO Giaaa

There {s i {
a relationship between the figures (A) and (R). The same relationship exlsts

(2 (3) ond (4). Choose the Correct option.

between the figure (C) and one of the options (1),

2 /_'\—"“'F"—
i

364/15-17
www. FrbTnpsc.com

www.Padasalai.Net
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e p—" — [ i

| | e 0
& ~B | QC | D !

T~ I =] =~

l e N ]

A | : e e |

1 Y ]

aifasop (i ezl 77-80) < : ;
Ganamin L 3 W heafar Qenrkflure D Fpégurand Duflmar sigefion s (),

2.0 @-figia A ApGAs-

Direction : {Qnvestlon 77 - 80) : )
Select e figure from the answer figrres (1), (2), (3) and (4) which wonld continue the series

a the piace of 1,
i) ===
SER TR 2
< _J {
LS leitp L] @
= |

i B
N BIR[X]
1 ' 2 3 3
(T8} I ' am o
' 3 ? 1z I; _]
L : 3 3 4
(79) j B ‘ 2
2 Oe s L_c Al 0
* = ® [®]
A & A =
1 2 2 5
e = ’
aElEAEN
LA B B s
T Lo
P 5] %
ww.TrbTnpsc.com 1 2 4 A
—antis 12
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eaflipany (nﬂsu.rr e, 87-80)

aufigpey (e sredr. 81-68 ; Oemhéadu’s viuretgs (0, @ (3 @ A omigelesfn 5o UESUTS
Gsr@éstol P 5 v dmsilh Gurgdsiohn en uLgdmar CHIE0sESs. DIFODEFITOTEL. BiFementh BaiEIHES.
Direction ; (Questions 81 - 86} © Direction : (Questions 87 - 90) : ;
Choose the fipare which Is &3ferent from oilery. embedlg:lv:: ofxl:ge“ :: t?;::wé:::;::ot:: 2:)?:;::‘5"98 1), {2}, {3) and {4} such that the given figore is
» ong.,
e~ [ o~ | o w onl 7]
i 3 | 1% 7% ! e t ]
elole o vy
T 1 j ,
@ | Lo [E] = «

D |

= KV
%

3 =
0 ' N V| A [ Aas 89) | "'\7_
1 5 3 -
==
D RS [D]
“L e | AL D || & |
I 2 3 3
(90) s
| X
“luv | E | A[S = |
S ' E N - !
| ’ MIEIEN9G
1 2 3 1
-2
agsfii5-13 388/us—20

www. TrbTnpsc.com vww.TrbTnpsc.com




NMMS Exam 2012 - MAT Answer Key

ANSWER P55 EXPLANATION
MAIN COMBINATION | COMBINATION
COLOURS OF COLOURS OF COLOURS

Pink ? - ';';:3 . ORANGE = PINK =
B-BLUE RED + GREEN | RED+GREEN+BLUE
India Asia , Australia , Europe = &6wiLm&6n | India = pr@
Think B Se.e _ -He.ar Sn.lell . ’l.'hi_nk
UGS EE(SH6) | CHLL60(BMF)) | HISTSH6V(ELSE)| CLUTaS S epamean
Niece Uncle , Nephew , Brother = g46iul&%6i | Niece - QLIGTIT
FED JOT ~QUT - DOG - FED

C H - Three strokes|] K. Q - Two strokes C - One strokes

STUA STUA — RQPA — MLKA — HGFA (Reverse Order)
Chimney : smoke GUN: bullet
bullet alleaTé@ : Lems Suuns& : GymLm
BRR DDA: ADD (Reverse Order) RRB: BRR
Governor ndia: President(gqurss smeay) State : Governor (ayesms)
Eyes : Tears Vgleano : Lava
HEUOISHET : S6UUT6uuTly sTfloenew : eTfioenevd GLOLbL)
12:169 (12%2=14) 14 : 225 (14+2=16)
12x14=168 +1 =169 14x16=224+1=225
64 :16
4x4x4 : 4x4
JK : 1011
J=10; K=11
. PICNJC=PNIICC
PNIICC 2" 1234 56
P=1;1=4;C=5;N=2;1=3;C
4 =8Sweet ; 7=Fruit;is =9
MAN = OCP BOY =DQA
M+2=0 ; A+2=C ; N+2=P | B+2=D ; O+2=Q ; Y+2=A
they=3; home=8; go="7

Lava

225

16

1011

S
SmesLns RMGLDGUTG (WL CMHGCs @(GLULST
AL & s QL &G HoFulled IlemLOWLD.
P=1x1x1=1 -11+1 =12

2’=2x2x2=8 —-12+8 =20

3=3x3x3=27 -20+27=47

£=3x3x3=64 — 47+ 64=111

Desigrn: SSTUDENT TEACHER WELFARE COMMITTEE” pums, POLAMPATTI, MARUNGAPURI BLOCK —TRIGHIYDT). Contact — 8526472776

20. QUL&G

21. 111




ANSWER

NO

ANSWER

EXPLANATION

31

5+2=7
7 + 310
15515
15+7 =22
22 +9=31

2+1 =3
3+2 =5
5+3 =8
8+5 =13
13+8 =21
21 +13_=)3d00

83="24
9x3=27
10x3=30
11 x3=33
12x3=36
13x3=39

3x3= 9-1=28
4x4=16-1=15
5x5=25-1s24
6 X 68301 = 35
TIXNVY-=49 -1 =48
8x8=64-1=63

3+4=7 3x4=12
5+6=11 5x6 =30
8+7=15 8Xx7=56

5+2+ 3=10
7+3+12=22
4+3+11=18

A=1:B=2E&5"H=

8;1=9

10%2'=20-1=19
3x2= 6-1= 5
7x2=14-1=13
9x2=18-1=17

11x 12 =132 7x3=21
9x12 =108 6 x 5 = 30

13221 =111
108 — 30 = 78

32,

45

rrg A

SHCUTEMSHUI QLIS - 50
5 QUBLRAISE@SS (peT - 45

LD & 63T
20 (212 DLMIG)
15 (3 WLMmi®)

33.

15

1

15x4=60-40=20
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ANSWER

ANSWER
NO

EXPLANATION

40

QrSFailearmsgen = 80

Gifillmesr eXlenL =120 rogaGiisoorsen (40 x 3 = 120)
Feupmesr ellen . 780—40 = 40

@Qrggs eemssen - FHlms el weNss eermsser)

3H&G 256 6T60ILIG (b 6UT5HS 6T6w0l
6pl] eTevuremuNesr 1 gyld QeVESLD 4 LELG 6 &
EGLIIN6CHT SIGH6IT QUTHHLOMEDISH 6 Q6L (PIg.ULD.

*

6+4-8=-1{4+-6-8=1|8-4 +2=6|8+4-6=2

d-8+12=0

8+4-12=0

1021

1+2=3 1 X2 2® 32
4+3=7 %3 =12 712
4+7=91" 4x7=28 1128
7+3=10 7x3=21 1021

2X2%x2= 8 3x3= 9 - 29
3x3x3= 8 4x4=16 - 29
4x4x4= 64 3x3= 9 — 649
Ix1lxl=1 2x2= 4 - 14

5+9=14 5 = 4446144
7+8=15 5151

2 +8:=10 — 106

9-
8=cls
4+6=10 6= 2 — 104
8-2
11,1

7,10,2,0,3,7,5,8,9,11,12,6 (@LLO@®mHS 6usvLd)
6,12,11,9,8,5,7,3,0,2,10,7 (eueofi(pihg QL Lb)
AL UUSS5HONBIHGH 7 6ugl etetor = 7
[ 5@ eueLLILGHD 4 eugl etevor = 10

25.08.2007

Q&L — 1 — g6

QUFEIOL — 4 — Feafl (LPFHL_6UTHID)
sevl — 11 —> gefl (QIOUL=6LS QIMIJLD)
&V — 18 — &6l (EL6OTmTeUS| QUMJLD)
L&V — 25 — Feoll (HMETSTEUS EUMILD)

43.

1 (psed 100 euempy Qev&HEMIGMN6D 4 6U(HLD 6TEHUIS6IT
4,14, 24,34, 40, 41, 41, 42, 43, 44, 45, 46, 47, 48, 49, 54, 64, 74, 84, 94
4 960 eUGU@ELD eTevursemr — 4, 24,40, 44, 48, 64,84 (7)

44.

Cedlmhg S sagmalsr @Lib - 24 + 1=25
SI0GHG Coed saNgmaler @L b (2 —24 = 18

45.

3IKss Cummng = 09.45 AMN
wphengw Cumha! 70915 AM
elegmflgs CrowY = 09.15 + 0.10 = 09.25 AM

46.

m-u-S

47.

APPROPRIATE

48.

eueLILSESSHOBHG 16 eugl erpds = K
K @ @LUussmwns 8 eugl eipdd = C

Design:#*STUDENT TEACHER WELFARE COMMIFPTEE” pums, POLAMPATTI. MARUNGAPURI BLOGK <TRIGHI(DT). Contact — 8526472776
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ANSWER

ANSWER
NO

EXPLANATION

MASTER

1

MEASUREMENE

3

G b(mH& eueold > SE LERPGHTEOUSNEES
eueoN@HEH @b AISE'EENSUOETHG I RF LiEIS

Vehicle
Bus | Car

| Lawyers | Doctors | Teachers |

Tamil nadu
India
Asia

Human beings
- Employed
Educated —

sevallwmiey CQumm

PCILITLOIT6UTEUIT & 61T

)

A

A

62,

63.

64.

DFBEAC

65.

EBFDCA

HEUTIGEN. SlemeTal(hld QeuefiLmLOTSS SKHLON IILD]THSI6TeTeoTi).

66.

§% &L

A B - gCangnisern
A uler GLHMSEHET — 1 10&6dT |, 2 aenser (C , D)

C,D - B @ 2mewpenm A& ULIT

~Design:*STUDENT TEACHER WELFARE COMMIPTEE” pums, POLAMPATTI. MARUNGAPURI BLOGK FRIGHINDT). Contact - 8526472776
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ANSWER

ANSWER
NO

EXPLANATION

(EsteoTLIOUIT B 60T
gCEMSI

1

N eteorleu] B opmitdb M ¢im &F&ang iy
M sTeTue] DsEHECHTS [T

E

%

8,5,2,1,7, 680 @G\)ésasrﬁjasmrrsi)
8 m& QT 2 (HeUTGLD FFflevss 6TEHUSEHT
85,82,81,87,86,68,78,18,28,58

101- 191 = 10 601 — 691 = 10

201 - 291 = 10 701791 = 10

301 - 391 =10 801891 =10
401 - 491 = 10 901 — 991 = 10
501 — 591 = 10 QurssS. = 90

2.

P L SHHGET FHITD ATEFHTSHDGET UL L

73.

4 &eb 3 ured &lwimenr HILPEOIL 6D

74.

4 GaemewId 5 &% LOMMIGHEL

75.

FHIHHAHG6T AW FFIJLD

(6;

SIDUSHGHIMWS HHOLENTEHS GHGHHNCS QL LD LDTMI%H6D

77,

3 uUTESHMm& |4 Girslons LOMTMHMIS 6L

78.

QUEMETILIKIGZET6T HlemaFenil LDTMHMISH60

79.

QG QURIGET @L LD LDTM)&H6L

80.

GCar(hoseafed 9HGHS euflengenil IHOILIEHLOSS 6D

o

&0 UTsLTSH NHSSEUELE e)edsnev

82,

6)1q.6UMISBET LD ITMHOILIEHLO & SLILIL_ 6160 65I60

83.

allgeugHled CHTL(HGHZHENH HUDTSH 2 6Teng)

84.

3

HMLELPTS 2 6iTENG)

Design:*STUDENT TEACHER WELFARE COMMIFTEE ” pums, POLAMPATTI. MARUNGAPURI BLOGK ~TRIGHI(DT). Contact — 8526472776
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ANSWER 55 EXPLANATION

s L% FLEE] HeiTenLn Giebeney

4 TSN WpHOID IYIULL. 6(pSHS]

GaldL| FHWMSL QUITIHHSID 2 (HeULD

QeulL UL L Q&FeueusSSl6T SemLoLIEHLIL QLTS SIS

Qi LSS @ LGSHMWILE QLITHHSSI%60

QU L S Sleir eNeBHInaL! QLIT(S8I560

E JIKILIMN|O|PIQIR|S|TIUVWX
S 10111)12|13|14/15]16|17]18|19|2021|22|23/24

Design; $STUDENT TEACHER WEREARE COMMITTEE”

PUMS, POLAMPATTI. MARUNGAPURI BLOCK — TRICHI (DT). Contact — 8526472776
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